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8 S =S, b S,=S,

c) S,=S, d S,=S,

2. ab, bc oo ac o Karer.
a) abc b) a?b?c?
c 1 d) ab+bc+ac.

3. IS BhErostd ookhad e 4198”08, o8 JTergo ARG

a 2:3 b) 16:81
¢ 81:16 d 14:19
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8. 3,3, 3/3 @85 TQIDE0
a 9 by 21

c) 27 V3 d 9 V3

9. (X+Y), (X—y)*50d50 (X —y?) oRwg) S.ar.f.
a (x+y)? b) x*-y*
c) (x*-y) d) (x+y) (x-y)p

10. Sordo Sopge Ingsw, varwr SKdM 05080k 30 wond &8 e (cubes) 3ngo
a o b) 90
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1, —Leo Sorerear #1908 $8da08d00
a ax*—-x-1=0 by ax*-1=0
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a O b) 1
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c) 90° d 30°
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c) (x+22=3x d 5-x=xX
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a 270.ab. b) 10%o0.20.
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21, @8 A& m x n, B & n x pewowd AB 8848
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30.
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2%8e theso (coefficient of variation) & %8 S@a8 AARrHW wr@o

avx + by &g, sodnijo (conjugate)

e8S5go @R Tgdo SyTs HoPHno BodE IT) @R0Ern SRY
(P00 QY JESe Tl Srgo

WOEERTN de Y& o FES TR S8 56

. @& ad)d @H o adwe HIHYS a7 fg@o@‘ ToR0k.

31.

32.

33.

34.

35.

36.

37.

25 500 (o $5TTd 8 508 & IPEH FHED, T bk T SrEh FHEH, 4 hh P
T, & S0808Q (@HEN, IS ATV i T &, Tow TododR (EHI T Somed §R8 0.

[2]

PX2 + 3X + 2 = 0508800 GnE), a8 Sreo ok Lrerad g o (reciprocal) wond, p

Jood %) 0d. [2]

X2+ 1= BXIDEErD) SP@R) GH@rhod FH0E0G. [2]

S Do % : é : % N8 0k, TE ST Igo 644w, & Dopgel 08 06.[2]
1 20 ,

A= % Og@w@ AA'SR §508)06. [2]

P EoeTES% 3%553 OER, Sohd el wd SHHS @&35”@. agﬁda O wid ©8),

WE6 $B) GO & wo, wOEW &t HOIT I AT ErEoEBLIN), [2]

Fo) essddbo (rationalise) B wr§)stoiod.

3V2+243

3V2-243 [2]
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38. 4/4 %odin 3 0 @) vard) §58)08. [2]

39. 88 S&EFTY Yoo G, 3Te50 60 H., TR DTS 32 . HANS & Yoo TEY, IEe)OR
$%08) 04, [2]

40. ok %60 BN erdod’inn worghldho TN O af fowy) $irded. AB =25
0.0, BC=44%00.0. wond & fomy @ndddrao §&8) 0. [2]

A

A1, 2 500008 T WREo ok SNEN) 0T6hM YN H§ES a0 (a8 e 20m=1cm).
© OGS 05 Z5% hdkod. 2]

Metres
ToD
140
120 —— 60to C
to E80 —+— 100
50 ——— 40to B
From A

42. U={1,2,3,4,56, 78,9
A ={X: X360 1057 85933 rgsdo}
B ={X:xe36 1057 8538 50 e dows}

1

v (AB ) =A'n B’ @38 $08r&oé. [2]
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W8 5TEEEE (HP) S T, = 2—10, T, = 3—18 sowd © 6D e ST L%,08.[2]

S={24,6, 8 vwd ST dhassrse 10 (multiplication modulo 10) &Gwg), Soxd

B8R Td0b. 2]
0 2 20
2 0 135m8¢ Quy, @5 hases. 2]
2 1 08
ob (@R0%re Y wonod WPEI) WOWrEs. [2]
A
B C
D
E F

4 20.9%. 5"3@”?0 0NN oS Bok s"gﬁ"q:@zéa WETATES 100° Fero Boswagom Hckos. &
o TPTo VSGo FTAG0M ok H)8)Taod Hcbos. [2]

&8 ROEE ) TGS Hd0 64, T AN . WEEIK0, 45 ITO TR0 140 ©oNE, I

Jood %) 0d. [2]
a+b+c=2swuws, [3]
T+ - 428 - S g e,

a?-b2-c?+2bc (s—Db)
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50. arirg Do) $0b, a8 HBIE ORI NY)Tpwr HErRl $rood. [3]
5L QYIS add IS Hob @PIrdidSodo (standard deviation) & fdokos. [3]
868 woddo C.I f
20 —24 2
25-29 3
30-34 5
35-39 3
40-44 2
52. wf §SS0 16 00b §38 b, 5 )R, 4 hdh Tk, RAOITEH edTokiw
G &, S a?és“)?»Soa, g Todh POHOITE ST ok0w wokiy 11 50 R Boo
W) AT WTF DS, [3]
53. (X*—9%2 + 26x — 24) %0dsn (X —6x2 + 11X — 6) o &), &b, o ERT) 06, [3]
54. 2.6 PEY%) 9B)S FE BeIchad wo)6. B G, FER8 2.4 %, &rod AW Fwde
&9 Dp, TS VSC FéS &) 888 Bod PR EKd0d. ITS §ob ) 1.4 . &rdo
TE39% 2008, BN pario 888 2err) S0, §8E &% §608) 0. [3]
V. 55 ¥ @ofEES’ 75 Sara8 7 Bép, 118 @8 11 Béy 2&rdo wond, SEed’ 188 Sdo i)
©:YE0EQ WrHok. [4]
56. ¥6rd @here FTerier, T8 ©Rwcd Hiwre ST wTEed Godrahd $rdod. [4]
57. To@w 9 0., &rded’ &) 3 Lo, 2 V0., TEFTeR EO0S Bok KT PErlg 8658

98 Spen hohod. 98 Tee PEY ER8), J0ErEod. [4]

9. [PT.O.
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58. y=X° y=6—Xxo% o i, mer X2 + X —6 = 0 gm0 Feosos. [4]
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